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ENGLISH VERSION

Instructions :(1) Attempt all questions.

(2) Figures to right hand side indicate marks of question.

1 From the following table, determine whether inoculation is20

effective over the disease?

DiedSurvivedTotal

Inoculated21012

NotInoculated6612

Total81624

[Table value : 3.841]

OR

1 Following result is received from a random sample of 200 persons20

from Rajkot city about their education received.

Education
Sex

PrimaryHighSchoolCollegeTotal

Male203050100

Female502030100

Total705080200

Test at 5% level of significance that, is there any relation between

sex and education?

[Table value : 5.991]
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2 A medicine manufacturing company had made experiment of five20

types of medicine in four different cities, sales received from the

experiment is given below in a table. Set up an aanalysis of variance

for this information.

City        Sales of Medicine (in Thousand)

T T T T T1 2 3 4 5

A 24 12 16 20 10

B 28 30 20 20 10

C 16 8 24 16 20

D 20 20 16 16 20

[Table value : (12, 3) = 8.74, (12, 4) = 5.91]

OR

2 Analyse the following result of Latin square experiments :20

A(12)C(19)B(10)D(8)

C(18)B(12)D(6)A(7)

B(22)D(10)A(5)C(21)

D(12)A(7)C(27)B(17)

In above table A, B, C, D show the treatments and figures show

the observations.

Test at 5% significant level.

[Table value : (3, 6) = 4.76]
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3 In a random sample of 1200 men from one city, 900 men15

were found to be smokers. In another sample of 1800 men from

another city 900 men were found to be smokers. From this

information can it be said that smoking habit among men is

equal in both the cities ?

[Table value : 1.96]

OR

3 Two classes A and B were tested in one exam. The marks15

obtained by the students are given below:

MarksofClassA28303233332934

MarksofClassB293030242729-

Can it be concluded that students of class A are cleverer than

students of class B ?

[Table value : 2.201]

4 A merchant sales Pizza at Rs. 100 per piece. If the Pizza is15

unsold during a day, it should be destroyed and merchant will suffer

loss of Rs. 40 per piece. Probability distribution of demand of

Pizza is as under:

Demand012345

Probabilitydistribution0.050.150.250.300.200.05

How many Pizza should be produced to get maximum profit?

OR
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4 Write short notes: (any two) 15

(1) Maximax criterion

(2) Horwitch criterion

(3) Minimax regret criterion

(4) Expected Monetory Value (EMV)
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